
D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

Kardanschutz// 20351-002
Final drive protection // Protector de cardán // Protection de cardan // Protezione cardano 1

1
2 Adapterblech 1

Nr. Bezeichnung Menge
1 Einlegestück

1
4 Sechskantmutter M8 1
3 U-Scheibe M8

1
6 Linsenflanschschraube M6 x 12 max. 7Nm 2
5 Kardanschutzblech

1
8 Linsenflanschschraube M6 x 20 max. 8Nm 1
7 Moosgummi/foam rubber

1
9 Gummipuffer/rubber buffer 4

Kardanschutz regelmäßig auf festen Sitz überprüfen.
Check the protection regularly for tightness.

M
 Nm

Anbau Tip
Fitting tip
Astuce de montage

Achtung
Attention
Attention

Vergrößerung
Magnification
Grossissement 

Montagepaste
Fitting lubricant
Lubrifiant de montage

Schraube
Screw
Vis

Schraubensicherung
Thread locking fluid
Freinfilets

Drehmoment
Torque
Torque

Legende/Key/file Légende

1

4

3

2

5

8

6

9

7



D i e  Fa r b e n  d e r  A b b i l d u n g e n  d i e n e n  n u r  d e r  V e r a n s c h a u l i c h u n g  / /  T h e  c o l o r s  a r e  f o r  i l l u s t r a t i n g  p u r p o s e s  o n l y 
C o p y r i g h t  b y  W u n d e r l i c h  G m b H  / /  w w w . w u n d e r l i c h . d e

2

max.8 Nm
Drehmoment
Torque

2

max.7 Nm
Drehmoment
Torque


